
 
Model Paper Mathematics Paper – X   

ٳہ લ د䮨۔1    ǘɟدا 㑔اب واᣅ ✔ ف✜ ،䞀 㐖 䥞ٳے د ǘɟر داᨴ 䁠⁩ ㈉ ال␰ ٳ Ǐɝ۔  
 2 ⚿ 〨 ٳوں ǘɟ۔دا)䗂લ ( ⵇ  ǔ˟ ا⃵ل ⸗䮨۔ 㩕ر⸗ǎ˄ 䖤 㦆 ㈉ٱ 㩔ⵇ ر  

ٳے ᣅ ╌ 䗂લاب ⨾ ሊر ㈊䜫۔3     ǘɟدا 䯏زا ╌  ǎا׏ 䆀 ابᣅ۔  
    
Time Allowed: 20 Minutes  SECTION – A Marks : 15 

  

1 
The factors of x2–9x+20=0 are …….. 

 (x + 4)(x – 5)  (x – 4)(x + 5)  (x – 4)(x – 5)  (x + 4)(x + 5) ۔۔۔۔۔۔۔۔۔䞈 ஗➳ٳوǔ ǌؼ ⵇ x2 – 9x + 20 = 0 
          

2 

The common solution of the quadratic 
equation x2 – 7x + 10 = 0 and  
x2 – 10x + 16 = 0 is ……….  –2  3  5  2 

x2 – 7x + 10 = 0 اور  ᧘وات   دو در㱉  
〪 䞈 ỡ۔۔۔۔۔۔۔  㴠 ⵇ x2 – 10x + 16 = 0 

          

3 
If 5 : 15 : x are in continued 
proportion, then x = ………… 

 15  45  5  20  Ꮰ ں䜫 䆀  ǌח᎗ 㳜 5 : 15 : x     䯆ا  
x = ……………………. 

          

4 The solution set of |x| + 5 = 2 is …… 
 { }  {3, –3}  {5, 5}  {2, 5} 䞈  Ǘ ǎږ ỡ ⵇ۔۔۔۔۔۔  |x| + 5 = 2 

          

5 
For binary relation R = {(x, 3), (y, 4), 
(z, 3)}, the Dom. R = ……… 

 {x, y, z}  {x, y}  {3, 4, 3}  {3, 4}   ⵇ R = {(x, 3), (y, 4), (z, 3)},  ر࠳ 䤈᜕ 
Dom. R = ……… 

          

6 
If A = {3,4,5}, B = {6,7} and R = {(3,6), 
(4, 7), (5, 7)} then R is …….. 

 

One -  One 
function from A 
to B  

A function from 
A to A  

 
Not a function  

 

An onto 
function from A 
to B 

 اB = {6, 7}  ،A = {3, 4, 5} 䯆 اور 
 ۔۔۔۔۔۔  ǎا׏R  Ꮰ R = {(3, 6), (4, 7), (5, 7)} 

䞈  ⥱ቿ1–1   䆀B   ╌
A 

䞈  ⥱ቿ   䆀A   ╌
A ۔䞈 䔽 ⥱ቿ  ǎا׏ 䞈  ⥱ቿ   䆀B   ╌

A 
          

7 
In a set of Data, 32, 35, 39, 41, 47, 
50, 53 median is ……… 

 39  41  32  53   Ǘ ǎږ  ǎا׏ ㈉ 䦒50، 47، 41، 39، 35، 32ڈ ،
  ۔۔۔۔ⵇ و∔䞈 䖽۔ 53

 
          

8 21 Cos ...............     Sin2  + 1  Sin    Cos    1 
 
          

9 
21 Sin

................
Sin
 




  Cot   Tan   Sec   
None of these  
䔽 䤈〨 䆀 ان 

 
          

10 
The line which intersects the circle on 
two points is called………  

Secant  
 
Chord 

 
Diameter 

 
None of these 

ٱ  ǖ˄ ⸗ Ⲍ 䯎 ط䏙 دو 〨 ٳے ǘɟدا ᣅ ̓͂  䧸۔۔ا䞈 ٱ ǖ˄ 〶 䞈۔۔  ⠰Ⱄ ̓͂ ٳ  ǖɟو ⲋ 䔽 䤈〨 䆀 ان 
 
          

11 
Any cyclic parallelogram is a ………. 

 
Square 

 
Rectangle  

 
Rhombus  

 
None of these  

ٳوى 㫱ازى ا㑔⟌ع  ǘɟدا ଺ 䤈〨 ٱ ǖ˄ 䜫 ۔䞈۔۔۔۔۔  ان 㱇  㱳 㸟 䔽 䤈〨 䆀ࡑ 
          

12 
If A = {5, 6, 7}, B = {6, 7, 8} then  
A  B = ……… 

    {6, 7}   {7, 8}  {6, 7, 8}  Ꮰ B = {6, 7, 8}  اور A = {5, 6, 7}  䯆ا 
A  B = ……… 

          

13 
Solution set of the equation 

x 5 2   is …………….  {3}  {9}  {–9}   
None of these  

 䞈۔۔۔۔۔۔۔  Ǘ ǎږ ỡ ⵇ x 5 2    ان 㱉  䔽 䤈〨 䆀وات
          

14 
A point dividing the line segment into 
two equal parts is called……. 

 
Median  

 
Mid point  

 
Chord 

 
None of these  

䏮  ǎٱ ا׏ ǖ˄ ٳ ẖں ኩ 䆀 ⸗ے 〶 ǌɟٳا ǌɟ دو 〨 ̓͂  ⹔ ᣅ 
ٳ و∠ 䏮 و∔䞈 䖽۔۔۔۔۔۔۔۔ ǖɟو 䔽 䤈〨 䆀 ان 

          

15 
A tangent is a line touching a circle 
at …………  

Two points  
 
Three points  

 
One point  

 
No point  

〨 ٳے ǘɟدا ᣅ 䞈 ٱ ǖ˄ 䜫 ̓͂  䧸س ا㽐۔䞈 ٱ ǖ˄ ⸗ 㱈 ۔۔۔۔ 䯎 دو 䏙ط  䏙 ᓕ 䯎ط   䏮  ǎا׏ 䯎  䔽 䯎 䏮 ⹔ 
 
 
 
 
 


